Jyis s

N
<
<t

K

4439E

1901 Jlo = J510 L galh oyl i )15 (50 590 (59939 9903 T

R0l R R R R RRARRa R R e R R R R R R R R R R R R

€ oo Mol CSllow 39 ZMol 8L ST

- \,
Al ;W e ’v () s el
VR AYIYA \NA

olnl ol (g a0
62963 5 wlidos pele oyl

7348 Si3gel haiaw oylesls

*:aﬁmmﬂ«'n!n«nlr‘im.ﬁmmw1'.ﬁm'niﬁﬁﬁﬁﬁﬁmnnnnmmmnﬂnn'mnﬁnnnﬁnﬁmmmﬁmuﬁnﬁﬁmﬁﬁm-1-mﬁm-::ﬁﬂﬁm:m‘m-mmnm‘m‘mﬂwmﬂnﬂnﬂi
5

| (10+Y 45) (it 3190 kS J 55 g Cuilitg |

LB VA Sl e 18+ 150 Sloxs |

mm..m.mm«mmm.mmmmmmmmmmmmmmmaj

Lkdlé.m EJM 9 RIREY .tiﬂ.‘:u.o] .313.9 ‘Jsd.:_-

AR R R e e R R e R R e R R R A R R R AR R

Slads U | Byle 1 | Jlgew S silociol olgo o,
. L . (eSS paas 5 (oz0e L) )
$o ¥ Y. el L M ol o e ¥
q. #1 Y. @ I9E Slge 551055 Jgol v
W a3 T 28 Mao o £
'y 1YY Y. el Slge AT I8 g codlage LIS A
( 318 Bieo &y ygmmn 3 3] ) (w jloes il paiblo n.:Lé:u.ul)

g b3 SN gho g MilRGe 1 g i oo il sl 11 3900 L g B 5 AR ol 40 (5t 403003 T B0 3 o (omep (S0 ASIT) iy 120 0 ST JLH g i it o




Y anio 449E (1Y 05) L lgo (S J yS 3 Cudligg

ol (39031 Aaadsr 30 (bl jgua 3 Cund Ao dr oy )0l 50 Lasl g wiliasuiue (40 455 0yl ¢ o0l )5 ooliio

[P TES RCT - POV PRSP Ry P E g | I R — 310 85l b il |
CJ‘:‘ J).uf oy ] &34 .LhJ‘B.uu d..‘a-).d.h C] d..DLIC.A.UL’ tSYL’ GLn.ub 4 .)3)3 n_i)Lf 6Yb ).b C)..L..n ‘:.Uosb oJLn...o lJ
mileson 9l 1y plasbzenly (ol 5 W lgw 2 183 g3 p oud

HgelSl) (v 3 o308 U

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

7.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) inevitable 2) intangible 3) unforeseecable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and bhegan to take counseling.

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) veritied

Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we

currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) --mmmmmee- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) -----—--—-—-- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4)in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Rumen lactic acidosis, often referred to as grain overload, develops as a result of
animals consuming large quantities of carbohydrates. Excessive consumption of
carbohydrates, specifically grain, results in a lowered rumen pH. The lowering of
rumen pH, or making the stomach more acidic, occurs because the microbial
population of the rumen is not able to metabolize high levels of lactic acid produced
during starch breakdown. In general, sheep or goats with the condition demonstrate
symptoms of discomfort, anorexia and diarrhea that may be off in color with a watery
consistency. The type and intensity of disease symptoms depends on acid quantities,
which in turn depend on the amount of starch intake and the ability of microorganisms
to metabolize the acids.

Regarding to the types of the disorder, in subacute acidosis, animals may simply
decrease intake of high grain or starch diets, while in severe acute cases of grain
overload, animals can become extremely sick and the mortality rate is high. In each
form, to avoid inducing lactic acidosis in sheep and goats, high grain diets should be
introduced gradually over a period of 10 to 14 days to allow rumen microbial
adjustment to the diet. Dietary buffers, such as limestone or calcium carbonate, can
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16-

17

19-

20-

also be fed to frustrate acid present in the rumen and keep appetite and feed intake
high. Lactic acidosis results in large economic losses for the producer such as loss of
lambing and animal productions.

According to the first paragraph, which definition about the ruminal lactic acidosis is
not True?

1) Decrease in rumen pH produces lactic acid

2) More consumption of carbohydrates leads to more acidity

3) Elevation of pH in rumen is resulted from starch breakdown

4) Overload of grain in rumen inhibits metabolization of lactic acid

Sevirity of the clinical signs of lactic acidosis depends on the following items EXCEPT --------- .
1) the kind of appearance of disorders

2) proportion of carbohydrates consumption

3) capacity of metabolization of the acids

4) the amount or percentage of acidity

Which of the following in relation with the types of acidosis is in contrast to the text?

1) In subacute disease reduction in starch diets is seen.

2) These types of acidosis are fatal and result in high mortality.

3) In severe acidosis there is a high consumption of carbohydrates.

4) For prevention of acidosis a slowly feeding of high grain diet is advised.

The objective of dietary buffers administration in the case of lactic acidosis, is ---------- ;
1) limitation of feed intake 2) to lessen desire for grains

3) to balance grains or starch diets 4) neutralization of the rumen acidity

In ruminants, all of the following can be considered as economic losses EXCEPT --------- i
1) disorders of the digestive system

2) reduced reproductive capabilities

3) impairements in hide quality and wool growth

4) decrease in milk production

PASSAGE 2:

The first preference of metabolism during a prolonged deprivation of foodstuff or
starvation is to provide enough glucose for the brain and other organs that dependent
upon it for energy in order to spare proteins for other cellular functions. The next
preference of the body is to shift the use of fuel from glucose to fatty acids and ketone
bodies. Thereafter, ketones become more and more important as a source of fuel while
glucose and fatty acids are of less importance.

An adequate amount of carbohydrates will prevent the degradation of skeletal
muscle and other tissues such as the liver, kidneys and heart. And also it will cause
ketosis to be prevented. Although the brain will adapt to using ketones as a fuel, it
preferentially uses carbohydrates and requires a minimum level of glucose circulating
in the blood 1n order to function properly. In fact the carbohydrates play an important
role as an energy supplier, the body also can use some variations of carbon compounds
such as ketones and fatty acids. First of all, maintaining a regular intake of
carbohydrates will prevent protein from being used as an energy source.

On the other hand, gluconeogenesis will slow down and amino acids will be freed
for the biosynthesis of enzymes, antibodies, receptors and other important proteins.
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Considering the fact that the processes of protein degradation and ketosis can create
problems of their own during prolonged fasting, they are adaptive mechanisms during
glucose shortages. Besides, before the adaptation process occurs, lower blood glucose
levels in some individuals may cause headaches.

During a prolonged food deprivation, the preferences of the body are providing glucose
respectively, for;

1) Ketone bodies, fatty acids and the brain

2) Fatty acids, the brain and ketone bodies

3) The brain, fatty acids and ketone bodies

4) The brain, ketone bodies and fatty acids

Receiving carbohydrates will benefit to the following organ systems EXCEPT ---------- 4
1) Urinary system 2) Digestive system

3) Cardiovascular system 4) Integumentary system

Amino acids are responsible for the biosyntheses of the following items EXCEPT -------- :
1) Fatty acids 2) Receptors 3) Antibodies 4) Enzymes

As the text implies, all of the statements related to the energy suppliers are correct,
EXCEPT ----e----- i

1) New synthesis of carbohydrates would be reduced

2) It 1s possible for proteins to be analyzed as free amino acids

3) Amino acids would be used for production of other proteins

4) Carbohydrates cause inhibition of utilizing proteins for energy production

In the last paragraph what does the term *““gluconeogenesis” mean?

1) Synthesis of glucose 2) Depletion of glucose
3) Receiving of carbohydrates 4) Synthesis of new carbohydrates
PASSAGE 3:

Polioencephalomacia is a condition found usually in feedlot lambs between 5 and 8
months of age, but can affect sheep of all breeds, sex, and ages. Losses are most often
sustained in animals on a high plane of nutrition. There are two levels of this disease,
acute and subacute. In the former level, lambs are found dead or comatose,
experiencing involuntary muscle contractions or seizures. In the latter, animals show
signs of incoordination, blindness and depression. At necropsy, lesions in the central
nervous system and also necrosis or softening of the cerebral cortex of the brain are
found. Polioencephalomalacia is thought to be caused by thiamine deficiency as a
result of diets or water containing toxic levels of sulfur.

A thiamine-like substance is produced in the rumen and competes for thiamine
receptors in the rumen and binds some of them. As a result, less thiamine is absorbed
by the body, even though thiamine production in the rumen is sufficient. This results in
neuronal degeneration and death of brain cells. Polioencephalomalacia seems to be
endemic to certain farms. Fish products and by-products from corn have high levels of
sulfur. If polio is a problem on specific farms or if feed ingredients with high sulfur
content are fed, then thiamine should be routinely added to grain mixes fed to sheep
and goats. A diagnosis of polio can be made when clinical signs such as blindness are
observed in animals with normal temperatures, or lesions are found during necropsy.
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Which statement about the two forms of polioencephalomalacia is contrary to the text?
1) Specification of the acute level is sudden mortality and seizures

2) In the acute form severity of the signs and risk of death is higher

3) Blindness and weakness are some features of the subacute form

4) The subacute level 1s fatal with neurologic signs like seizures

From the second paragraph about the signs present at necropsy, which definition for the
meaning of ““polioencephalomalacia” is correct?

1) Lesions in the white matter of the medulla

2) Softening of the grey matter of cerebral cortex

3) Inflammation of the central nervous system

4) Necrosis and softening of the medulla of the brain

Which of the following phrases best matches with the cause of this disorder?

1) Degradation in levels of sulfur in water or diet

2) Deficiency in production of thiamine in the rumen

3) Competition of substances in brain for thiamine receptors

4) Suppression of thiamine absorption with high levels of sulfur

As declared in the text as a result, which disorder leads to degeneration and death of
neurons?

1) Insufficient production of thiamine

2) Disorder in thiamine receptors

3) Decreased thiamine absorption

4) Deficiency in sulfur metabolism

In all of the following conditions, addition of thiamine to diet is necessary EXCEPT ---------- ;
1) If an endemic disease in a farm is prevalent

2) In the case of high sulfur content in consumed diet

3) When polioencephalomalacia is diagnosed and approved

4) Presence of corn and fish products in feed ingredients of the diet
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